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Problem quickname: 8600

1)

Calculate the result.

a) 232.88 =10 b) 703.24 = 1000 ¢) 163.78 + 1000 d) 405.62 + 100
e) 305.16 + 100 f) 365.88 + 100 g) 999.6 + 10 h) 700.05 <+ 100

i) 667.79 = 1000 j) 157.71 = 100

2)

Calculate the result.

a) 1.3042 = 10 b) 7.0657 + 10 c¢) 5.0456 + 100 d) 8.1404 =+ 100
e) 7.4078 + 10 f) 6.9582 + 100 g) 3.7912 =+ 100 h) 9.8457 + 10
i) 3.8027 = 10 j) 9.6937 = 100

3)

Calculate the result.

a) 3.2 + 10 b) 17.1 + 1000 ¢) 63.6 + 10 d) 94.6 + 10
e) 17+ 100 f) 96.2 + 10000 g) 52.9 + 10 h) 43.7 =+ 10
i) 39.3 =+ 10 j) 43.1 =100

4)

Calculate the result.

a) 219.6624 = 1000 b) 740.386 <+ 10000 c) 991.0235 + 10
d) 388.4469 + 10 e) 463.3661 + 10 f) 699.0169 + 1000

g) 529.8817 <+ 1000 h) 694.4275 + 1000 i) 537.1746 = 100
j) 209.5545 = 1000

Good Luck!
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